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A small village is treated as a Shchuna - maows 11701 JuR DD

OVERVIEW
The Xn>72 mentions that a small village is treated as a (7212w or) [2n]; meaning
that the restrictions that apply to a "2»/Anow, apply to a P 793. Our MdOIN
explains why.
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And the reason why a 9P 793 is "2n3/ANdOWD N7, is because people do not
frequent a P 192, so it is very common that he will visit her since no one is
watching -
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And this stringency is only regarding a Jup 99> but not to an average size 292,
which is considered like a city.

SUMMARY
A small village is like a (71115w) "12n (the lack of people make it easier for him to be
with her), but an average village is like a city.

THINKING IT OVER
If we are 0713 (not *121 but) 71Ow. What will be the ruling by a °111°2 193; is it like a
"1 or like an y?

" The n"a7 maxT amends this to read *1an2 (instead of M2w). This would prevent the 372 from living there with his
former (single) wife. According to our X0) of oW this would prevent both the 3713 and the 7% from living there
with their former (remarried) wives. See previous aX1 7"7 '01n. The 11"2 amends the X072 for it is difficult to assume
that a Jup 793 is smaller than a ™an. See 7117 1°P°P and 7n7W ROI.

? Presumably a Jup 193 is bigger than a "12n (see footnote # 1), a reason is required why it is treated as a "an.

? See TR 790,



